


l;=g_= cfo lzif{s cg\dflgt cfo of] dlxgfsf] cfo xfn ;Ddsf] cfo

1 Plss[t  ;DklQ s< 10000000 0 0

2 gS;fkf; b:t'< 6500000 0 0

3 j*f ;]jf s]Gb| ;^< ef*f 120000 0 0

4  O{ l<S;f gljs<)f b:t'< 2000 0 0

5 crn ;DklQ d"Nof°g ;]jf z'Ns 2000000 0 0

6  cGo ljljw cfo ;h{ldg b:t'< 150000 0 0

7  cGo ljljw cfo ljljw 25000 0 0

8  l;kmfl<z tyf aS;f}gL b:t'< 1600000 0 0

9 Joj;fo s< 2000000 0 0

10  ;jf<L btf{ tyf jflif{s ;jf<L s< 600000 0 0

11  btf{ tyf gjLs<)f b:t'< 125000 0 0

12  u]|*< ef*f 200000 0 0

13  PS;fe]^< ef*f 900000 0 0

14 h]l^*= tyf ;]S;g d]lzg ef*f 200000 0 0

15  cGo ljljw cfo j]?h' c;"nL 15000 0 0

16  dfnkf]t tyf e"ld s< 20000 0 0

17  b)* hl<jfgf 200000 0 0

18 gftf k|dfl)ft b:t'< 120000 0 0

19  Pr cf< l*.l; ef*f 25000 0 0

20  axfn s< 200000 0 0

21 :jf<L kfls{Ë z'Ns 100000 0 0

<Tggu< gu<kflnsf,<Tggu<-1, lrtjg 

cfly{s jif{ 2072/2073 

kmfNu"g dlxgf 
2072/2073 sf] dfl;s cfdbfgLsf] kmfF^jf<L



22 ;|f]t kl<rfng kmd{ ljs||L 250000 0 0

23  cGo ljs|L lnnfd ljs|L 50000 0 0

24 JolQmut #^gf btf{ z'Ns 70000 0 0

25  z'? df}Hbft 500000 0 0

26  ;<;kmfO{ ;]jf z'Ns Plss[t ;DklQs< ;_u} lng] 500000 0 0

27  (n h*fg hf]*fg z'Ns 500000 0 0

28  dgf]<~hg s< 20000 0 0

29  lj!fkg s< 100000 0 0

30  ;<;kmfO{ tyf sjf*L ;_sng s< &]Ssf af^ 1000000 0 0

31  km'^s< tyf v'b|f Jofkf<L jf^ z'Ns 10000 0 0

32  t<sf<L jhf<jf^ cfDbfgL 365000 0 0

33  <lh:^|];g ;]jf z'Ns 5500000 0 4409015

34  jg k}bfjf< z'Ns 50000 0 0

35  zf}rfno ;]jf z'Ns 25000 0 0

36 ko{^g ;]jf z'Ns 2940000 0 0

37  hUuf ef*f af^ cfDbfgL 150000 0 0

38  utjif{sf] lhDd]jf<L ;fg]{ lx;fj 0 0 8310014.03

39  gu<kflnsf cfGtl<s >f]t -<fh:j pk zfvf 0 2400000 13752553.33

hdf cfGtl<s >f]t tkm{ 37132000 2400000 26471582.36

jfxo >f]t

40 gu<kflnsf lgzt{ cg'bfg k"FhLut vr{ 15396000 0 15319330

41
:yflgo :jfot zf;g tyf ;fd'bflos ljsf; sfo{s|d 
rfn' vr{ 1500000 0 0

42 :yflgo :jfoQ zfifg tyf ;fd'bflos sfo{s|d 5996000

43  :yflgo ljsfz z'Ns k"lhut lgsf;f 6636000 0 3144000



44  :yflgo ljsf; z'Ns rfn' lgsf;f 5808000 0 3144000
45  :yflgo zflGt ;ldtL 45000 0 0

46  o"lg;]km g]kfnsf] ;xof]udf l;PkmPnhL sfo{s|d 5400000 0 0

47  O{PkmPnlh sfo{s|d 15000000 0 0

48  cGo cg'bfg ;fdflhs ;"<Iff 25000000 14019400 41243280

49  cGo cg'bfg /afx| l<)f kl<rfng 4508000 0 0

50  lh.lj.;.cg'bfg 200000 0 14856000

51  lzz' :ofxf< sfo{s|d 250000 0 0

52  cGo cg'bfg hu]*f sf]if 18000000 0 0

53 cGo cg'bfg ;*s jf]*{ 5000000 0 0

54  ;*s af]*{ lgsf;f 0 0 3500000

55 cGo cg'bfg hg:jf:Yo sfof{no 1200000 0 0

56  k_rsGof pk:jf:Yo rf}sL cf] lk.^L.;]jf 150000 0 0

57
zx<L :jf:Yo lSnlgs ;_rfngsf nfuL hg:jf:Yo jf^ 
lgsf;f 1000000 0 320000

58 nfut ;xeflutf -pkef]Qmf ;ldtL 13500000 0 50000

59  cGo ljljw cfo -hg;xeflutfdf cfwfl<t 6360000 0 0

60
 lhNnf k|zf;g af^ lgsf;f e'sDk lkl*t Gofgf] n'uf 
ljt<)f 0 0 760000

afx\o >f]t sf] hDdf 124953000 14019400 88332610

s\n hDdf 162085000 16419400 114804192.4



ah]^ g_ ah]^ vr{ zLif{s hDdf ah]^ ljlgof]hg dlxgfsf] vr{ d;fGt;Ddsf] vr{ ah]^ af_sL

1 tna sd{rf<L 12500000 1261582.06 10149265.03 2350734.97
2 kbflwsf<L kfl<>lds 200000 0 0 200000
3 sd{rf<L eQf 1300000 261878 1394032.73 -94032.73
4 a}&s eQf 300000 0 162300 137700
5 kf]zfs 1500000 532500 532500 967500
6 sfo{qmd e|d)f vr{ sd{rf<L 0 6450 152595 -152595
7 e|d)f vr{ tyf b}lgs eQf 550000 99105 192650 357350
8 sfof{no ;]jf dx;"n 0 0 65290 -65290
9 sfof{no ;]jf tyf dx;"n 1000000 115603.98 1057331.25 -57331.25

10 sfof{no ;_rfng tyf ;fdfg 2500000 640020.7 3157373.19 -657373.19
11 ef*f 150000 0 82553.33 67446.67
12 dd{t tyf ;Def< 600000 0 937406.45 -337406.45
13 kqklqsf tyf k':ts 80000 800 105238.94 -25238.94
14 OGwg ;jf<L 550000 15978 210490.99 339509.01
15 ;jf<L OGwg sd{rf<L 400000 5037.6 74264.05 325735.95
16 cGo OGwg 200000 0 19298 180702
17 ljljw vr{ 400000 29963 513152 -113152
18 vKg] dfn ;fdfg kmlg{r< tyf lkmS;< 500000 16620 158620.32 341379.68

<Tggu< gu<kflnsf sfof{no

cfly{s jif{ 2072/2073

kmfu'g dlxgfsf] vr{sf] kmf_^jf<L



19 kl<ifb\ ;~rfng vr{ 200000 30990 461045 -261045
20 sd{rf<L sNof)f sf]if 1200000 0 1400000 -200000
21 cf}ifwL pkrf< 50000 0 5900 44100
22 n]vf kl<If)f z'Ns 50000 0 150000 -100000
23 ljdf lk|ldod vr{ 50000 8200 64932 -14932
24 sfo{s|d vr{ z'esfdgf lj!fkg 072/073 18100 165620 -165620

j*f :t<Lo sfo{s|d

jf^f] u|fj]n ldnLh'nL ^f]n 15000 0 0 15000
;[hgf ^f]n u|fj]n 25000 0 0 25000
PsfGt uNnL b'uf{ dlGb<sf] af^f] 15000 0 0 15000
cfgGb gu< ^f]nsf] af^f] 25000 0 0 25000
a|xd:Yffg ^f]nsf] af^f] 15000 0 0 15000
lgkgL gu<sf] af^f] 25000 0 0 25000
cd[t ^f]n -db{lgof dfu{ 50000 0 0 50000
lg*\; dfu{ 20000 0 0 20000
<flwsf kf}*]nsf] #< hfg] af^f] 20000 0 0 20000
j*f g-.1sf] cGo af^f]x? 40000 0 0 40000

nf}<L#f]n l;dfËg;<;kmfO{ < t^aGwg -nf}<L#f]n 
k'n b]lv dlGb<;Dd 100000 0 0 100000
af^f] lj:tf< tyf pRr:t<Lo u|fj]n 150000 0 0 150000

k'ikfGhnL dfu{ u|fj]n 25000 0 0 25000
rgfkf]v<L -a]N;L hf]*\g] dfu{ 25000 0 0 25000

j*f g_=1

j*f g_=2

j*f g_=3



gljg dfu{ x'_b} -<fh]Gb| vgfnsf] #<-<fh]Gb| 
>]i&sf] #<;Dd ;*s lgdf{)f 50000 0 0 50000

<fh]Gb| sf]O{<fnfsf] #< x'_b} a]N;L hf]*\g] dfu{ 
u|fj]m 25000 0 0 25000
l;@]Zj<L wd{zfnf lgdf{)f -hnb]jL dlGb< 50000 0 0 50000

<fd]Zj< dlGb<sf] cw'<f] e)*f< sIff lgdf{)f ug]{ 25000 0 0 25000
;fj{hlgs zf}rfno lgdf{)f-zflGtrf]s 50000 0 0 50000

j*f g_=4

cflbjf;L dlxnf ;d"xsf] ejg kl<;<dfef]sxf < 
au}rf^f]ndf ;fj{hlgs zf}r 250000 0 0 250000
vfg]kfgL lj:tf<sf nflu vfN^f] vGg] 50000 0 0 50000
au< ^f]n hf]*\g] af^f] lj:tf< tyf u|fj]n 50000 0 0 50000

af#df<f rf]saf^ vu*L bf]efg tkm{ af^f] 
lj:tf<-u|fj]n ug]{ 50000 0 0 50000
j*f cGtu{tsf cGo af^f]x? vfN^f] k'g]{ 100000 0 0 100000
u*f}nL ^f]nsf] af^f]x? pRr:tl<o u|fj]n ug]{ 70000 0 0 70000
lztn dxf]jg ^f]n pRr:tl<o u|fj]n ug]{ 70000 0 0 70000

nfn k;f{ leqL af^f]x? pRr:tl<o u|fj]n tyf 
*\]g ;kmfO{ 80000 0 0 80000

e]*Laf^ k"j{ dx]fjg ^f]n < lztn ^f]n 
vfg]kfgLsf] kfO{k lj:tf< 30000 0 0 30000
l^sf}nL rf}sL b<} dfu{ u|fj]n 45000 0 0 45000

s[i)f dlGb< 1 g_. u]^b]lv lzz} rf]s ;Dd < 
nId)f jhufO{sf] #< hfg] af. 60000 0 0 60000

j*f g_=3

j*f g_=5

j*f g_=6

j*f g-=7



lztn kf}*]nsf] #<b]vL vf]nf hfg] jf^f] < s[i)f 
yfkfsf] #<b]vL b.#.;.u 20000 0 0 20000
cd< a<fnsf] #< hfg] jf^f] u|fj]n 7000 0 0 7000

g]^jfsf] #<b]lv j*f g_.6sf] l;dfgf;Dd u|fj]n -
a]n^f_*L 65000 0 0 65000

e<t axfb'< yfkf sf] #< hfg] jf^f] u|fj]n-
jL;xhf<L ^f]n 12000 0 0 12000

l;rfO{ u]^b]vL gf<fo)f yfkfsf] #< x'_b} gx<sf] 
af^f] k.#.u|fj]n 15000 0 0 15000

s[i)fdlGb< b]vL 2g_.zfvf;Dd k_rsGof *\g 
;kmfO{ ug]{ 20000 0 0 20000
afn'jf^f<sf] ul<j j:tLdf u|fj]n ug]{ 6000 0 0 6000

j*f g_=8

j*f g_. 8 leqsf zfvf af^f]x? ;*s dfkb)* 
cg'";f< jf^f] sf.u.gf.d_.u|fj 250000 0 0 250000

lr;fkfgLdf ls|ofk'qL ejg < d'xfg -s'jf 
Joj:yfkg 50000 0 0 50000
k_rgbLdf :gfg#f^ Joj:yfkg 75000 0 0 75000

km'njf<L af^ %fofbQ kf}*]nsf] #< ;Dd 
p.:.u|fj]n 75000 0 0 75000
j*fsf cGo e}kl< cfpg] sfd 50000 0 0 50000

j*f g_=10 j*f gf.d_r n] %gf}^ u<]sf sfo{s|d 250000 0 0 250000
j*f leqsf dfkb)* k'u]sf af^f] u|f.ug]{ 200000 0 0 200000
u)f]z dlGb< ejg lgdf{)f 25000 0 25000 0
;bflzj dlGb< ejg lgdf{)f 25000 0 0 25000

j*f g_=12 jf^f] lj:tf< tyf pRr :tl<o u|fj]n <gkf 12 250000 0 0 250000

j*f g-=7

j*f g_=9

j*f g_=11



j*f g_=13 ltns dfu{ l;l$ljgfos ^f]n af^f] u|fj]n 250000 4500 4500 245500

;fljs lk&'jf 3 sf jf^fx? dd{t 80000 0 0 80000

;fljs j*f g_. 5 sf af^fx? dd{t 80000 0 0 80000

ljljw cfsfl:ds of]hgf 50000 173700 245800 -195800

;fljs j*f g_. 6 sf af^fx? dd{t 40000 0 0 40000

<)f axfb'< du<sf] #<b]lv s'n k|;fb e^\^sf] 
#< hf]*s pRr :t.u|fj]n 200000 0 0 200000

u|fj]n ;*s dd{t 50000 0 0 50000

d'gfn ;d"x z}lIfs ;_:yf ejg cuf*L x]dkfO{k 
k'g]{ < u|fj]n 30000 0 0 30000

lzj k'*f;}lgsf] #< glhssf] #f]ndf sne^{ 
dd{t 30000 0 0 30000

hd'gfk'< yfkfsf] v]tsf] jf^f] x'b} uPsf] s'nf] 
dd{t 10000 0 0 10000

zfvf g_. 1 cGt{ut nfnk|;fbsf] #< glhs < 
nfdfsfG%fsf] #< %]psf] sne^{ 10000 0 0 10000

16 g_. zfvf cGtu{t nfnk|;fbsf] #< glhs < 
nfdf sfG%fsf] #< %]p s.dd{t 15000 0 0 15000

;[hgf ^f] kf]N^L kmd{ b]lv pQ< tkm{sf] emf_s|L 
^f]n ;Ddsf] jf^f] u|fj 25000 0 0 25000

led;]g yfg hf}af<L ^f]n jf^ klZrd <fds[i)f 
>}i&sf] #< ;Dd u|fj]n 15000 0 0 15000

j*f g-=14

j*f g-=15

j*f g_=16



bf]af^f] jf^ so<vf]nf ;Dd af^f] dd{t 5000 0 0 5000
l;rfO{ zfvf NffOlgË 60000 0 0 60000

<fds'df< aHufO{ sf] #< b]lv s[i)f vgfnsf] #< 
;Dd jf^f] u|fj]n 30000 0 0 30000

j*f leqsf af^f]x? clt cfjZos klxrfg ul< 
jf^f] u|fj]n 20000 0 0 20000

j*f g-=17 j*f g_. 17 sf] sfof{no ejg lgdf{)f 250000 0 0 250000

a%f}nL pRr df.lj. 100000 0 0 100000

<]*s|; ejg 50000 0 0 50000

a%f}nL df.lj.k%f*L ;f}<fxf ;*s lgdf{)f 100000 0 0 100000
bf]<_uL em'jfgL ;*s^<f}nL <f.k|f.lj.;*s 100000 0 0 100000

^<f}nL cd<al:t dxgf x'_b} k*l<of af]b|xgL 
;*s pRr :t u|fj]n 75000 0 0 75000

em'jfgL km;]<f#f^ x'_b} dxgf -bf]<_ËL ;*s 
lgdf[)f 75000 0 0 75000
jfnjflnsf nlIft sfo{s|d
pm_ zflGt sDkfp)* tf<jf< 100000 0 0 100000

as'nx< dfljlj#fno kmlg{r< lgdf{)f tyf 
sDKo"^< vl<b 140000 0 0 140000
afn p@fg lgdf{)f 50000 0 0 50000
xl<x< a]bj]bfË wd{ ;_:s[ltsf] hu]gf{ ug]{ 30000 0 0 30000
efg' k|]<)ff k':tsfnosf] :t<pGgtL 25000 0 0 25000

j*f g_=16

j*f g_=18

j*f g-=19

j*f g_=1



afnaflnsfnfO{ v]ns'b ;fdfg vl<b -g.kf.df 
;'lrs[t 45000 0 0 45000

;f]<fxfrf]s as'nx< rf]s;_rf<rf]styf lgkgL 
rf]sdf h]a|f s|l;Ë <fVg] 10000 0 0 10000

^f*L rf]s bfof afof g].p. df.lj.sf] cuf*L 
h]a|f s|l;Ë agfpg] 50000 0 0 50000
b}ljs k|sf]ksf] k|fylds pkrf< sf] tflnd 40000 0 0 40000

PrcfO{ eL P*\; af<] tyf nfu' kbfy{ af<] 
;'lrs[t ;r]tgf uf]i&L ug]{ 100000 0 0 100000

g]kfn df.lj.df z'$ vfg]kfgLsf] Joj:yfkgsf] 
nfuL 3yfg Ps'jfuf*{ pknJw 60000 0 0 60000
afn p@fg agfpg] 100000 0 0 100000
db<;f ;_rfng ;xof]u 50000 0 0 50000

>L lg.df.lj. a]N;L lj#fnosf] ;_<IfTj <xg] u<L 
;f] ljj.:.af.Sn.:yfkgf 100000 0 0 100000

nfu'cf}ifw b'Jo{;gL ;DalGw r]tgfd'ns sfo{s|d 
;_rfng ug]{ 60000 0 0 60000

j*fsf jl:t :tl<o afn Snj nfO{ v]ns'b 
;fdfu|L ljt<)f ug]{ 75000 0 0 75000

o; j*fsf k|To]s ^f]n ljsf; ;_:yfn] %g}^ 
u<]sf clt lj. %fq %fqf 75h.z} 75000 0 0 75000

cltl<Q ls|ofsnfk ;lxt afn lbj; agfpg] 25000 0 0 25000
afnaflnsf vf]k s]Gb| :yfkgf 50000 0 0 50000

SofDk; rf]szflGrf]s tyf a]N;L rf]sdf h]a|f 
s|l;Ë 15000 0 0 15000

j*f g_=1

j*f g_=2

j*f g_=3



;*s bfof /afof a[If<f]k)f 75000 0 0 75000

b]jf}nL lg.df.lj.df k":tsfnosf] nflu cfjZos 
;fdfu|L vl<b ug]{ 75000 0 0 75000
nfu'cf}ifw b'Jo{;g lj?$ ;r]tgf sfo{s|d 50000 0 0 50000

b]af}nL lg.df.lj.sf] lzz' sIffsf afnaflnsf 
nfO{ vfhf v'jfpg] 50000 0 0 50000
j*f:t< v]ns'b ;fdfu|L ljt<)f 25000 0 0 25000
afn p@fg lgdf{)f 100000 0 0 100000
j*f:t< v]ns'b/cltl<Qm s[ofsnfk 25000 0 0 25000

dfemL d';x< ^f]ndf k':tsfnosf nflu ;xof]u 50000 0 0 50000
OGb|])fL Snj #<df k':tsfno 100000 0 0 100000
lrq;f<L df.lj.afn p@fg 75000 0 0 75000
dgx<f <f-k|f.lj. 150000 0 0 150000
v]ns'b ;fdfu|L vl<b 25000 0 0 25000
df]xgf pRr df.lj.tf<jf< 50000 0 0 50000
k':tsfno lj:tf< tYff v]ns'b ;fdfu|L 50000 0 0 50000
df]xgf pRr df.lj. ejg lgdf{)fdf ;xof]u 200000 0 0 200000
hgr]tgf o'jf Snj ejg lgdf{)fdf ;xof]u 80000 0 0 80000
a[Iff<f]k)f tyf ^f]n ;<;kmfO{ :^])* lgdf{)f 20000 0 0 20000
sk<kmf]l< df.lj.df ;fO{sn :^])* lgdf{)f 120000 0 0 120000
<f.k|f.lj.lzz}x'l*Ëaf]*{k_vf < sDKo"^< vl<b 50000 0 0 50000

Hof]lt{do cWoog s]Gb|nfO{ kmlg{r< tyf k':ts 
vl<b 30000 0 0 30000

o'jf tyf afnaflnsfx?nfO{ v]ns'b ;fdfu|L vlb 
g.kf.;".d}.km'^jn e.ls|.k 70000 0 0 70000

j*f g_=4

j*f g_=5

j*f g_=6

j*f g_=7



afn p@fg lgdf{)f 40000 0 0 40000

ufp_#< lSnlgs ;_rfngsf] nflu kmlgr< tyf 
cf}iflw vl<b 25000 0 0 25000

gf.;.s].u&g ePsf] ul<a al:tdf dft[lzz' 
sfo{s|d ;_.kz' x.afn'jf^f< s'd 25000 0 0 25000
Jof]lt{do afn ljsf; s]Gb|sf] kfnL yk 40000 0 0 40000

lgDg juL{o afnaflnsfblnt 
cflbjf;LhghftLd'l:ndlk%*f ju{sf lj#fyL{ 290000 0 0 290000

j*f g_.8leqsf afnSnjx?sf] Ifdtf lj:tf< 
tyf v]ns'b ;fdfu|L vl<b 100000 0 0 100000

;f}<fxfrf]sb';_rf<rf]sas'nx< rf]styf 
lgkgLrf]sdf h]a|f s|l;Ë 10000 0 0 10000

j*f g-=9

k_rsGof xl<ofnL afn p@fgsf] ef}lts k"jf{wf< 
< ljsf;sf nflu Psd'i^ ?kd 400000 280000 280000 120000

afgnaflnsfnfO{ b'Jo{;gL lgoGq)f ug{ ;r]tgf 
sfo{s|d 100000 0 0 100000

a^< ^f]ndf <x]sf] vfln hldgnfO{ ;_<If)f ub}{ 
afn p@fg lgdf{)f 300000 0 0 300000

j*f g-=11

afn p@fg%fqj[lQafnaflnsf nufPt k&gkf&g 
;fdfu|L ;<;xof]u 400000 0 0 400000
v]n d}bfgsf] Joj:Yff ug{kg]{ 100000 0 0 100000
b}lj k|sf]k Pj_ k|fylds pkrf<sf] tflnd 50000 0 0 50000

Pr.cfO{.le.P*\; tyf nfu'kbfy{ af<] ;r]tgf 
uf]i&L 40000 0 0 40000

b]lj<d)f < cldlnof <f.k|f.lj.df 
afnaflnsfx?nfO{ z'$ kfgL 70000 0 0 70000

j*f g_=7

j*f g_=8

j*f g-=10

j*f g-=12



ljkGg blnt lj@fyL{nfO{ vfhfkf]iffs < z}lIfs 
;fdfu|L ljt<)f 40000 0 0 40000
afn p@fg agfpg] 100000 0 0 100000
kf]if)f ;fdfu|L ljt<)f 50000 0 0 50000
%fqj[lQ Pj_ z}lIfs ;fdfu|L ljt<)f 50000 0 0 50000

v]nd}bfg tyf dgf]<_hg s]Gb| k_rsGof p.df.lj.< 
hod_unf ahf< glhs afn p 250000 0 0 250000

b'Joj;gL Go'lgs<)f ;r]tgf sfo[s|d ;_rfng 
ug]{ 50000 0 0 50000

afn ;r]tgf afn>d Go"lgs<)f afn ljsf; 
sfo{s|d 50000 0 0 50000
lu|g afn Snjhghfu[lt afn Snj u&g tyf 
kl<rfng 100000 0 0 100000

hghfu[lt pRr df.lj. 100000 0 0 100000

$fl<sf df.lj. 75000 0 0 75000
hgf]bo df.lj 75000 0 0 75000

afnaflnsf sfo{s|d jfn ljsf; s]Gb| k"jf{wf< 300000 0 0 300000

afnaflnsfsf] nflu afn ;d"x u&g ;{hgfTds 
sfo{s|d ;_rfng 100000 0 0 100000

ebA|sfnL df.lj.df afn ljsf; s]Gb| ;_rfng 
Joj:yfkg 150000 0 0 150000

afn e]nf afn Snj u&g lj:tf< < Joj:yfkg 50000 0 0 50000
afn k":tsfno :yfkgf 50000 0 0 50000

j*f g-=12

j*f g_=13

j*f g_=14

j*f g-=15

j*f g_=16



afn ;r]tgf tyf b'Jo;lgs Go"lgs<)f 50000 0 0 50000

afnaflnsfnfO{ v]ns'b ;fdfu|L z}lIfs ;fdfu|L 
%fqj[lQ 50000 0 56860 -6860
afn>d Go"lgs<)f tyf afnd}lq j*f #f]if)ff 50000 0 0 50000

afnaflnsf :^]zg<L kf]iffs v]ns'b ;fdfu|L 
ljt<)f 50000 0 0 50000
;<;kmfO{ Joj:yfkg sfo{s|d 50000 3455 3455 46545
afnaflnsf r]tgf d"ns sfo{s|d 50000 0 3600 46400

<f.k|f.lj.ab|xgL v]nd}bfg sDkfp)* afn p@fg 50000 0 0 50000
dfnk'< df.lj. v]nd]bfg afn p@fg 150000 0 0 150000
d}gfxf <f.k|f.lj.v]nd}bfg afn p@fg 50000 0 0 50000
ufp_#< lSnlgs 50000 0 0 50000

afn au}rf lgdf{)f 100000 0 0 100000
afnaflnsf nfO{ ;r]tgf sfo{s|d 50000 0 65000 -15000

v]ns'b ;fdfu|L 50000 0 0 50000

lszf]< lszf]<L sIff 50000 0 0 50000
ljkGg afnaflnsf kf]zfs ljt<)f 50000 0 0 50000

afn kqklqsf k|sfzg 30000 0 0 30000

afn Snj ;_rfng 20000 0 0 20000

em'jfgL ;fd'bflos k':tsfno cuf*L afn p@fg 100000 0 0 100000

j*f g-19

j*f g_=18

j*f g_=16

j*f g_=17



afn>d Go"lgs<)f 50000 0 0 50000
ljkGg afnaflnsfz}lIfs ;fdfu|L v]ns'b 50000 0 0 50000

e'jfgL df.lj.vfg]kfgL 50000 0 0 50000

kfj{tL <f.k|f.lj. 50000 0 0 50000
^<f}nL ;fd'bflos k':tsfno 50000 0 0 50000
em'jfgL ;fd'bflos k':tsfno 50000 0 0 50000
dlxnf nlIft sfo{s|d
lzkd'ns tflnd -Jo"l^kfn{<l;nfO{sDKo"^< 100000 0 0 100000
s[lif tflnd 65000 0 0 65000

#<]n' kmf]x< Joj:Yffkg sfo{s|d cfdf ;d'x ;_u 
;xsfo{df 75000 0 0 75000
j[Iff<f]k)f sfo{s|d 25000 0 0 25000

dlxnf :jf:Yo :jo_;]ljsfsf] nflu vf]k tyf 
cGo :jf:Yo sfo{s|dsf] nfuL 10000 10000 10000 0
Jo"l^kfn{< tflnd 60000 0 0 60000
d'*f a'Gg] tflnd 40000 0 0 40000
sDKo"^< tflnd 40000 0 0 40000
s';g a'Gg] tflnd 50000 0 0 50000
df]jfO{n dd{t 55000 0 0 55000
kf&]#< SofG;< hf_r 30000 0 0 30000

<.g.kf.3 sf dlxnfx?nfO{ lrK;bfndf]^< 
s'zgUof; r'Nxf] agfpg] tflnd 50000 0 0 50000

<gkf 3 sf dlxnfx?nfO{ Ifdtf ljsf; tflnd 70000 0 0 70000
dlxnf lx_;f lj?$ 16 lbg] cleofg sfo{s|d 5000 0 0 5000

j*f g-19

j*f g_=1

j*f g_=2

j*f g_=3



lzjzlQm cfdf ;d"x xfhLk'< ejg lgdf{)f 150000 0 0 150000

dlxnfx?nfO{ Ifdtf ljsf;/g]t[Tj ljsf; 
tflnd 65000 0 0 65000
dlxnf lx_;f lj?$sf] sfo{s|d 50000 0 0 50000

dlxnfx?nfO{ #<]n' kmf]xf]<nfO{ Joj:yfkg ul< 
dn jpTkfbg ug]{ tflnd 60000 0 0 60000
dlxnfx?nfO{ *Nn] ;fa'g agfpg] 50000 0 0 50000

dlxnfx?nfO{ cfO{ kL Pd t<sf<L v]lt sfo{s|d 50000 0 0 50000

dlxnfx?nfO{ a}df};dL t<sf<L v]tL/kz'kfng 
tflnd 100000 0 0 100000
g]t[Tj ljsf; tflnd 50000 0 0 50000
:jf:Yo ;DaGwL hgt]tfd'ns sfo{s|d 75000 0 0 75000
d';x< ^f]n :jf:Yo ;<;kmfO{ 50000 0 0 50000
pb\#f]if)f tyf g]t[Tj ljsf; tflnd 75000 0 0 75000

dlxnf :jf:Yo ;r]tgf kf&]3< ;DalGw tyf 
kf]if)f ;DalGw sfo{s|d 25000 0 0 25000
cfdf ;d"x ejg lgdf{)f ;xof]u 50000 0 0 50000
Oda|fO*<L tflnd /dz'kfng tflnd 125000 0 0 125000
;fd'bflos ejg lgdf{)f gf.;.s].afn'jf^f< 125000 0 0 125000

cflt ljkGg blntlk%*f ju{cflbjf;L 
hghfltpTlkl*tx?nfO{ g]t[Tj ljsf; 150000 0 0 150000

j*f g_=8

dlxnf g]t[Tj ljsf; n]vf Ifdtf clej[l$ 
hgr]tgf clej[l$dlxnf :jf:Yo l 275000 0 0 275000
cflbjf;Lhghglt dlxnf ;r]tgf sfo{s|d 75000 0 0 75000
#<leqsf kmf]x<d}nf Joj:yfkg 200000 0 0 200000

j*f g_=3

j*f g_=4

j*f g-=5

j*f g_=6

j*f g_=7

j*f g=9



dlxnfnfO{ Ifdtf ljsf; tflnd 100000 0 0 100000

gful<s ;r]tgf s]Gb| nfO{ ljljsf]kfh{g ;'wf<sf 
nflu sfo{s|d 75000 0 0 75000
dlxnfx?nfO{ ;f*Ldf a'l^s eg]{ tflnd 100000 0 0 100000
r]tglzn cfdf ;d"x ejg hfg] jf^f] u|fj]n 30000 0 0 30000
n]vf tflnd 40000 0 0 40000
:jf:Yo kl<If)f 100000 0 20000 80000
p@d tflnd /cfo cfh{g 105000 0 0 105000
dlxnf l;nfO{ s^fO{ tflnd 75000 0 0 75000
d'(f a'Gg] tflnd 40000 0 0 40000
sfg'gL lzIffsf] tflnd 30000 0 0 30000
cu<alQ agfpg] tflnd 40000 0 0 40000
dlxnf cfdf ;d"x ejg lgdf{)f cf.;. 60000 0 0 60000
dlxnf kf&]#< SofG;< hf_r 30000 0 0 30000
dlxnf nlIft lzlj< 40000 0 0 40000
:jf:Yo ;DalGw hgr]tgf sfo{s|d 50000 0 0 50000

p@dlzn tflnd l;nfO{ s^fO{ kfn{< d}galQ 
rfpldg agfpg] 110000 0 0 110000

cfod'ns sfo{s|d afv|fkfngs[lif Joj:ffo 
tflnd 75000 0 0 75000

dlxnfsf] kf&]#<sf] d'vsf] >fj < :tg kl<If)f 40000 0 0 40000
dlxnf z;lQs<)f g]t[Tj ljsf; tflnd 50000 0 0 50000

dlxnf zLkd'ns tflnd Jol^kfn{< ul*of 
agfjpg] 80000 0 0 80000

j*f g_=10

j*f g_=11

j*f g_=12

j*f g_=13

j*f g_=14



:jo_;]ljsf <fli^|o sfo{s|d vfhf 5000 0 0 5000
dlxnf ufp_#< lSnlgs Joj:Yff 20000 0 0 20000
cfdf ;d"x Hofg kl<If)f sfo{s|d 5000 0 0 5000

dlxnfx?nfO{ cfod'ns Joj;fo s[lif tflnd 
Rofp < j]df};dL t<sf<L tflnd 75000 0 0 75000
kf&]#<sf] d'v kl<If)f lzlj< 50000 0 0 50000
dlxnfsf nflu l;nfO{ tflnd 135000 0 0 135000
dlxnf lx_;f ;DalGw tflnd 50000 0 0 50000
ufp_#< lSngLs Joj:yfkg 30000 0 0 30000

dlxnf :jf:Yo ;DalGw kf&]#< tyf :tg kl<If)f 
lzlj< 60000 0 0 60000
Jo"l^kfn{< tflnd 30000 0 0 30000
dlxnf pb#f]if)f tyf g]t[Tj ljsf; tflnd 70000 0 0 70000

dlxnfnfO{ s[lif Joj;fo v]tL a]df};dL tsf<L 
s[lif ;DalGw tflnd 25000 0 0 25000
ufp#< lSnlgs Joj:yfkg 30000 0 0 30000
:jf:Yo cfdf ;d"x Ifdtf ljsf; 10000 0 0 10000
Rofp v]tL tflnd 50000 0 0 50000
r]tgfd'ns g]t[Tj ljsf; 40000 0 0 40000

<f]huf<d'ns tflnd -afv|kfngl;nfO{ 
s^fO{t<sf<L v]tLsDKo'^< d'(f agf 75000 0 0 75000
dlxnf lx_;f lj?$ tflnd 50000 0 0 50000
dlxnf :jo_;]ljsf k|T;fxg eQf 15000 0 0 15000

Yff? dlxnf ;fd'bflos ejg -du<f ^f]nlrq;f<L 
;*s 60000 0 0 60000

j*f g_=14

j*f g_=15

j*f g_=16

j*f g_=17



;f;' a'xf<L ;Ddfg sfo{s|d 15000 0 0 15000
ljkGg dlxnf :jf:Yo sfo{s|d 20000 0 0 20000
dlxnf lx_;f ;r]tgf sfo[s|d 50000 0 0 50000
dlxnf kf&]#< tflnd 50000 0 0 50000
(lsof df}gL rs^L agfpg] tflnd 60000 0 0 60000

dlxnfnfO{ jfOL<Ë tflnd 50000 0 0 50000
dlxnf nfO{ ;fd'bflos ejg c]fb<f 35000 0 0 35000
;f;' j'xf<L ;Ddfg sfo{s|d 15000 0 0 15000
dlxnf :jo_;]ljsf k|fT;fx 15000 0 0 15000
r]tgfd'ns g]t[Tj ljsf; 40000 0 0 40000
pb\#f]if)f tflnd 35000 0 0 35000

dlxnf <f]huf<d'ns tflnd jfol<Ës'sj]^<w'k 
agfpg] 100000 0 0 100000

rs^L d'(fs*fO{ a'gfo{JO'l^lzog kfn{< tflnd 85000 0 0 85000
dlxnf :jo_;]ljsf 15000 0 0 15000
hghflt tyf ljkGg ju{ sfo[s|d

b'uf{ dlGb< <_u<f]ug(n ;kmfO{ tyf (n dd{t -
elQmgL 35000 0 35000 0

Ho]i& gful<snfO{ k|ltIfno tyf xl<ofnL kfs{ 
lgdf{)f 100000 0 75000 25000
ckf_Ë sfo{s|d -lzkd'ns 50000 0 0 50000
;<:jtL b'uf{ dlGb< dd{t ;_ef< -as'nx< 35000 0 0 35000
xl<x< dlGb< <_u<f]ug 40000 0 0 40000
;f]nf< alQ h*fg -hg;xeflutf 100000 0 0 100000

j*f g_=17

j*f g_=18

j*f g_=19

j*f g_=1



clt ljkGg nlIft -gf.;.s].u&g ePsf] If]q 
db{lgof cd[t ^f]nlgkgL ^f]n 40000 0 0 40000

h]i& gful<sx?sf nflu ;fj{hlgs lj>fd:yn 
Pj_ ehg lst{gsf nfuL ejg lgdf{ 200000 200000 200000 0

blntcflbjf;L < ckfË lk%*f ju{ cfod'ns 
tflnd 150000 0 0 150000
;':t dgl:ytL 50000 0 0 50000
h]i& gful<s lxt tyf ;Ddfg sfo[s|d 25000 0 0 25000

blntnfO{ :jf]huf< zLk tyf cfod'ns tflnd 75000 0 0 75000

a]N;L d'Qm]Zj< < ;okqL ^f]nsf] blnt ljkGg 
al:tdf vfg]kfgL < ;<;.sfo{ 75000 0 0 75000
km<s Ifdtf cfjZos ;fdfu|L k|bfg ug]{ 50000 0 0 50000

cflbjf;L tyf hghffltx?sf] al:t aG;La]N;L 
x'_b} zflGtrf]s ;* u|fj]n 175000 0 0 175000

j*f g-=4

cflbjf;L hghflt/dlxnf/blnt k|fËfl<s dn 
pTkfbg tflnd 400000 0 0 400000
ljkGg #<w'l<nfO{ ;f]nf< cg'bfg 200000 0 0 200000
dfemL d';x< ^f]n Joj:yfkg 150000 0 0 150000
dgx<f hghfltsf nflu l;_rfO{ sfo{s|d 50000 0 0 50000

lj#fno kl<;<leq <x]sf rGg' dxtf]sf kl<jf< 
Joj:yfkg tyf ;xof]u -df]xgf 50000 0 1550 48450

nfnk;f{ < u*\f}nLsf] clt ljkGg j:tdf 
zf}rfno ;fdfu|fL ljt<)f 100000 0 0 100000

j*f g_=1

j*f g_=2

j*f g_=3

j*f g_=5

j*f g_=6



ljkGg ;d'bfosf o'jfx?nfO{ j]lN*Ë 
KnljËOn]lS^\lzog*|fO{j< tflnd 100000 0 0 100000

df]xgf df.lj.cuf*L ul<a al:tdf zf}rfno 
lgdf{)f -klSs 50000 0 0 50000
s'dfn ;fd'bflos ejg sDkfp)*/tf<jf< 25000 0 0 25000

g;{<L < s].hL.sIffsf afnaflnsfnfO{ vfhf 
Joj:yfkg 75000 0 0 75000

bf]efgkz'xf^ ahf< ^f]ndf df%f kfng lj:tf< 50000 0 0 50000

Hof]ltd{o ;fdflhs ;_:yfsf] ejgsf] tnf yk 150000 0 0 150000

<.g.kf.7 sf] ljleGg rf]sx?df ;f]nf< alQ 
h*fg 125000 0 0 125000

j*fleq j[Iff<f]k)f sfo{s|d l^sf}nL ;f.j.;_u 
;fem]bf<L sfo{s|d 25000 0 0 25000
lzju0f]z wfld{s ;]jf ;ldtL <_uf]ug 20000 0 0 20000
l;$]Zj<L dlGb< dd{t 20000 0 0 20000
dlxnf :jf:Yo :jo_;]ljsfx?nfO{ vhf vr{ 10000 10000 10000 0

ljkGg nlIft a}l<of r]kfË Joj:yfkgzf}rfno 
;'wf< lgdf{)f cfod'ns/zLkd' 200000 0 0 200000

j*fleqsf] h]i&ckfËPsn dlxnfsf] nfuL p@fg 
lgdf{)f tyf r]tgfd'ns sfo{ 200000 0 0 200000

j*f g_=9

;fn#f<L leqsf 3 ^f]n dWo] gjhfu[lt ^f]nnfO{ 
Joj:yfkg ug]{ < cGo ^f]nn 400000 0 0 400000

j*f g_=6

j*f g_=7

j*f g_=8



j*f el<sf ckfË ePsf < h]i& gful<snfO{ 
cfjZos ;xof]u-- 100000 0 0 100000
plTkl*t ;]jf ;dfhsf] ejg lgdf{)f 200000 0 200000 0

j*fsf clt ljkGg kl<jf<nfO{ lhljsf]kfh{gsf 
nflu sfo{s|d 100000 0 0 100000
ckfË x\jLOr]o< 35000 0 0 35000
sDKo'^<df]jfONf k|fljlws tflnd 150000 0 0 150000
Rofp v]tL 50000 0 0 50000
s[lif tflnd 125000 0 0 125000
afv|f kfng 40000 0 0 40000
ckfËnfO{ x\jLn r]o< ljt<)f 50000 0 0 50000
gf.;.s].sf] ejg lgdf{)f 100000 0 0 100000
gf.;.s].df d'(f a'Gg] tflnd 50000 0 0 50000
gf.;f.s].df l;nfO{ s^fO{ tflnd 50000 0 0 50000
ckfË < j[$x?nfO{ sk*f ljt<)f 50000 0 0 50000

u<La tyf ljkGg ju{sf o"jfnfO{ KnldË jfO{l<Ë 
tflnd 100000 0 0 100000

ljkGg al:t Joj:yfkg-pGglt k|ult k|]dal:t 
^f]n 100000 0 0 100000
xfp; jfol<Ëk]lg^Ëdf]jfO{n dd{t tflnd 100000 0 0 100000
ckfËsf] nflu zLkd'ns tflnd 50000 0 0 50000

h]i& gful<s c;xfo dlxnfx?sf nflu lj>fd 
:yn lgdf{)f 150000 0 0 150000

<f]huf<Ld'ns tyf cfod'ns tflnd 
jfO{l<ËKnlDjËaf<k]G^< 180000 0 0 180000
h]i& gful<snfO{ ;Ddfg 40000 0 0 40000

j*f g_=10

j*f g_=11

j*f g-=12

j*f g-=13

j*f g_=14



cflbjf;L hghflt nlIft sfo{s|d 90000 0 0 90000

blnt nlIft sfo{s|d 50000 0 0 50000

ckfË nlIft sfo{s|d 40000 0 0 40000

gful<s ;r]tgf s]Gb|df vfg]kfgL Wff<f lgdf{0f 
jf lj:tf< 100000 0 0 100000
blnt pTyfg sfo{s|d 60000 0 0 60000
hghflt nfO{ zLkd'ns sfo{s\d 80000 0 0 80000

h]i& gful<s ;Ddfg sfo{s|d 100000 0 0 100000
ckfË lzkd'ns tflnd 60000 0 0 60000

ljkGg al:tvfg]kfgL u|fj]nzf}rfno ;'wf<ljkGg 
o'jfnfO{ lzkd's sfo{sf 100000 0 0 100000
blnt pTyfg sfo{s|d 50000 0 0 50000
ckfË pTyfg sfo{s|d 50000 0 0 50000
d';x< ^f]n vfg]kfgL ;tx gfnf 80000 0 0 80000
ckfËnfO{ d}qL s|d ef}lts ;fdfu|L 20000 0 0 20000
h]i& gful<s ;Ddfg sfo{s|d 15000 0 0 15000
cfo cfh{g sfo{s|d tflnd 35000 0 0 35000
l;;'jf< dlxnf ;d"x #< 50000 0 0 50000
af]b|xgL dlxnf ;d"x #< 50000 0 0 50000
dfnk'< ;fd'bflos ejg -dlxnf 50000 0 0 50000
d}gfxf ;fd'bflos ejg -dlxnf 50000 0 0 50000
tdfË u'Daf lgdf{)f 50000 0 0 50000
g]t[Tj ljsf; tflnd 35000 0 0 35000
lzkd'ns tflnd 100000 0 0 100000

j*f g_=17

j*f g_=18

j*f g_=14

j*f g_=15

j*f g_=16



ODa|fO{*<L tflnd 80000 0 0 80000

k]Gl^Ë tflnd 50000 0 0 50000

ljkGg u{jlt dlxnf ;xof]u sfo{s|d 50000 0 0 50000
h]i& gful<s ;Ddfg 10000 0 0 10000
h]i& gful<s pkrf< 25000 0 0 25000

n#' p@dL ;d'x jhf< Joj:yfkg 50000 0 0 50000

ljkGg kl<jf<sf o'jfx?nfO{ <f]huf<d'ns tflnd 
-efiffufO{*a]^< s's 200000 0 0 200000
ufp_#< lSnlgs k"jf{wf< ;'wf< em'jfgL uf_p 25000 0 0 25000
ckfËnfO{ p@dlzntf tflnd lbg] 50000 0 0 50000

h]i& gful<s :jf:Yo kl<If)f 50000 0 0 50000
h]i& gful<s ;Ddfg sfo{s|d 15000 0 0 15000
ljkGg al:tdf ;*s lj:tf< 60000 0 0 60000

k\_hLut vr{ cGt{ut k|aB{gfTds If]qdf 
;_rfng x\g] sfo{s|d

1 cfjlws of]hgf k'g<fjnf]sg 300000 0 0 300000
2 gu<:tl<o ;*s u'?of]hgf 200000 146900 146900 53100
3 gu< k|f]kmfOn k'g<fjnf]sg 150000 0 0 150000

4

ejg lgdf{)f lgb]{lzsf tof<L -ejg cfrf< 
;lxtf nfu' ;d]t 150000 0 32000 118000

5 <fhZj ;_efJotf cWoog < k|If]k)f sfo{ 150000 148030 148030 1970
6 ko{^g ljsf; tyf ;"rgf s]Gb| :yfkgf 1200000 0 0 1200000

j*f g_=18

j*f g_=19



7

ko{^g k|x<L lj^ :yfkgfkl<rfng tyf 
Joj:yfkg 150000 0 0 150000

8 k|ult ;ldIff sfo{s|d 50000 0 0 50000
9 ;fj{hlgs ;'g'jfO{ 150000 0 84750 65250

10 ;fdflhs n]vfkl<If)f sfo{s|d 150000 0 150000 0
11 df;'k;n tyf awzfnf Joj:yfkg 100000 0 0 100000

12

sd{rf<L Pj_ <fhg}lts bnnfO{ ;sf<fTds ;f]r 
Ifdtf ljsf; sfo{s|d 200000 0 0 200000

13 kf]lnof]bfb'<fvsf< hf_r le^fldgPh'sfsf] cf}iflw 150000 0 0 150000

14

j]jfl<;] nf; tyf kz'kIfLsf] l;gf] Joj:yfkg 
vr{ 20000 0 2000 18000

15

cuf{lgs v]lt ljifbL Go"lgs<)f sfo{s|d *|]g v]tL 
k|j$[g 150000 0 0 150000

16 ;j{hlgs hUuf ;_<If)f tyf nut c@fjlws 400000 0 0 400000
17 dlxnf :jf:Yo :jo_ ;]ljsf Ifdtf ljsf; 200000 0 0 200000
18 ljljw cfsl:ds sf]if 800000 89140 89140 710860
19 l^k<^ofS^<u|]*<;S;gh]l^Ë O{Gwg 500000 551321.3 912550.66 -412550.66
20 l^k< ^]S^<u|]*<h]^Ë dd{t 300000 0 126965.4 173034.6

21 ljleGg ;_#;_:yf;Fu nfut ;fem]bf<L sfo{qmd 0 70000 143999.44 -143999.44
22 ljleGg ;_# ;_:yf ;_u ;fem]bf<L sfo{s|d 500000 350000 389800 110200
23 pHofnf] a%f]nL sfo{s|d 1000000 0 0 1000000
24 :yflgo zflGt ;ldtL 45000 0 0 45000
25 ;d'bflos ;]jf s]Gb| 45000 0 0 45000
26 ;fd]bflos d]nldnfk ;ldtL <Tggu< 150000 0 125000 25000



27 h}ljs ;"rgf s]Gb| ;_rfng ;xof]u 80000 0 0 80000

28

jflif{s kj{k"hfhfqf;_:s[lt Pj_ <fli^\o lbj; 
;_rfng sfo{s|d 150000 0 102000 48000

29 <Qmbfg sfo{s|d 0 3160 14560 -14560
30 o'jf tyf v]ns'b ljsf; 400000 0 243600 156400

31

^f]n ljsf; ;_:yf u&g klrfng tyf ;'l$s<)f 
sfo{s|d 160000 0 0 160000

32

(n tyf (n k\zf]wg s]Gb| ;_rfng tyf 
Joj:yfkg 200000 5000 40568 159432

33 t<sf<L ahf< Joj:yfkg 150000 0 588651 -438651
34 cGwf ckfË alx<f;':tdgl:ytLleGg Ifdtf 100000 0 0 100000
35 cfly{s ;xfotf 60000 0 5300 54700
36 s[lt;flxTo tyf ;|:^f k|j${g 50000 0 20000 30000
37 kqsf<x?sf] Ifdtf ljsf; sfo{s|d 50000 15000 15000 35000
38 k|rf< k|;f< tyf <]l*of] sfo{s|d 150000 35000 116250 33750

39 k'lj{ lrtjg kqsf< ;_# ejg lgdf{)f df ;xof]u 50000 0 0 50000
40 ;'rgf zfvf tyf k':tsfno Joj:yfkg 150000 0 0 150000
41 uf]& ;'wf< sfo{s|d 700000 0 0 700000
42 uf]& ;'wf< sfof{s|d 0 0 350000 -350000

gu< :t<Lo of]hgf tyf sfo{s|dx?
1 s[lif tyf kz' ljdf sfo{qmd 1000000 0 0 1000000
2 k~rsGof gx< lgdf{)f 300000 0 0 300000

3

gf<L hfu<)f s]Gb| j*f g_. 3 gd'gf ^f]nsf] ejg 
lgdf{)f qmdfut 150000 0 150000 0

4 lbkHof]tL cfdf ;d'xsf] ejg lgdf{)f 100000 0 0 100000



5 cfO{. lk.Pd. kf&zfnf 100000 0 0 100000

6

s[lif ;DaGwL ljleGg tflnd df^f] kl<If)f < 
ljiffbL ;r]tgf 200000 50000 50000 150000

7

j*f e<Lsf] dlxnfx?sf] :jf:Yo kl<If)fsf] nflu 
:jd:Yo lzjL< 100000 0 10000 90000

8 as'nx< b'uf{ dlGb< lgdf{)fdf ;xof]u 50000 0 0 50000

9

Jofj;flos s[lif tflnd s[lif Nofj kf]v<Laf^ 
df%f dg]{ zLksf] tflnd 100000 0 0 100000

10

j*f g_. 4 < 6 l;dfgf ;*s pRr:t< u|fj]n 
ug]{ 100000 0 0 100000

11 e'ldut l;_rfO{ lj:tf< 800000 0 0 800000

12

#]#f}nL #f]n *«]g ;kmf ug]{ tyf kfgL lgsf;sf] 
nflu sNe^{ lgdf)f ug]{ 100000 0 0 100000

13 hghgu[lt ;xsf<Lsf] ejg tnf yKg] 300000 0 0 300000

14

zfGtLs'~h dlxnf ;xsf<L ;_:yfsf] ejg <gkf 
9 sf] dgsfdgf ^f]ndf lgdf{) 150000 0 0 150000

15

k~rsGof cfdf ;d'x cw'<f] ejg lgdf{)f ;DkGg 
ug]{ 100000 0 0 100000

16 j*f ;]jf s]Gb| ejg lgdf{)f ug]{ 500000 0 604262 -104262

17

hod_unf ax'd'vL SofDk;nfO{ z}lIfs u')f:t< 
sfod ug{ ef}lts k"jf{wf< lg 400000 0 0 400000

18 hod_unf <]*qm; pkzfvf ejg lgdf{)f ;xof]u 100000 0 0 100000

19

<]*qm; ;f];fO{^L pkzfvf a%f}nL ejg lgdf{)fdf 
;xof]u 100000 0 0 100000

20 lk&'jf <]*qm; pkzfvf ejg lgdf)f ;xof]u 100000 0 0 100000



21 Xo'dkfO{k sNe^{ lgdf{)f 1000000 0 0 1000000

22

cfGtl<s ko{^s la:tf< xf]d :^] :yfkgf tyf 
;_rfng 600000 0 0 600000

23

v'nf lbzfd'Qm sfo{qmd lg<Gt<tf zf}rfno 
;'wf< 250000 0 0 250000

24 g]r< ufO* s's efiff j]^< ;DaGwL tflnd 50000 0 0 50000
25 ;f}<fxf a;kfs{ du< a'(L #f]ndf sNe^{ 100000 0 0 100000

26

lz;'jf< aXf:yfgaf^ ;f}<fxf a;kfs{ hfg] af^f] 
u|fj]n ug]{ 100000 0 0 100000

27 yf? ;f_:s[lt ;_u|fxno k"jf{wf< lj:tf< 50000 0 0 50000

28

zx<L :jf:Yo lSnlgs :jf:Yo rf}sL < s]Gb| 
;_rfng cg'bfg 2200000 0 0 2200000

29 <fd dlGb< a^'s ;xof]u 50000 0 0 50000
30 xl<x< b]j j]bf_u ;f:s[t kf&zfnf 50000 0 0 50000
31 laleGg ;_#;_:yf ef}lts k"jf{wf< ;xof]u 3000000 0 0 3000000
32 glagrf]s b]lv ^fF*L rf]s gfnf lgdf{)f 1300000 0 0 1300000

33

af;' g]kfnsf] #< glhs tgfxL vf]nfdf 
lgdf{)fflwg sNe^{sf] :Nofa lgdf{) 500000 0 0 500000

34

b]af}nL s'nf] as'nx<af^ elQmgL x'Fb} l;_rfO{ gx< 
*«]g ;kmfO{ 200000 0 0 200000

35 hfNkfnb]jL ^f]n ;Qn lgdf{)f k"jf{wf< 50000 0 0 50000

36

eQmfgL au}rfb]lv a'$Hof]tL af]. :s'n ;Dd 
sfnf]kq] 400000 0 0 400000

37 250000 0 0 250000

38

ltns axfb'< rf]saf^ pQ< h'^kfgL hfg] af^f] 
u|fe]n 100000 0 0 100000



39 PDa'n]G; vl<b tyf ;_rfng 1000000 0 316258 683742

40

aufn] ^f]naf^ pQ< tkm{ sl<a 1 ls.dL af^f] 
la:tf< tyf p. :t< u|fj]n 40000 0 0 40000

41

nfn k|tfk ^f]nb]lv cgGt kf}*]nsf] #< hfg] 
af^f] p. :t. u|fj]n 50000 0 0 50000

42

gGbnfn k_u]gLsf] #<af^ klZrd hfg] af^f] p. 
:t. u|fj]n 50000 0 0 50000

43

lztnrf]saf^ ;]<L em'jfgL af]^]#f^ d'n ;*s 
pRr:t< u|fe]n 200000 0 0 200000

44

hd'gfk'< :s'n < eLd a. rf]s lardf k'n 
lgdf{)f 500000 0 0 500000

45

ljBfno wfld{s d& dlGb< ;_# ;_:yfx? nfO{ 
kl% lg)f{o adf]lhd 0 0 559000 -559000

46 gfu<Ls ;r]tgf sfo{s|d ut aif{ 0 0 975000 -975000
47 lkmtf{ vr{ 2072/073 0 29295 511535.01 -511535.01
48 ;<;kmfO{ sd{rf<L Hofnf 072/073 0 195612 753712 -753712
49 s|df_ut of]hgf 0 458300 2885009.48 -2885009.48
50 e'sDk lkl*t <fxt sfo{s|d 0 0 3825000 -3825000

51

*]S;^k ;e{< g]^js{ ;fdfu|L < O{G^g]^ vl<b 
cg'bfg 0 0 274263.46 -274263.46

52 cfO{l;^L ef]lnoG^< lgjf{x eQf 0 81000 276250 -276250
53 xfO{la|* ;f]nf< :yfkgf 0 0 249700.06 -249700.06

54 e'sDk lkl*t nfO{ Gofgf] n'uf ljt<)f sfo{s|d 0 0 760000 -760000

55

e'sDk lkl*t ejg lgdf{)f cfrf< ;lxtf 
sfo{s|d 0 94920 94920 -94920



56 kf]iffs ;d'bfo kl<rfns 0 112500 112500 -112500
57 j*f ;le{; ;]G^< d;nGb vr{ 0 7500 7500 -7500
58 a}&s eQf PnhL;L*LkL 0 0 126600 -126600

cGo sfo{s|d

1

xfO{ a] Joj:yfkg cGtu{t km'^kfn tyf u|Lg<L 
df ;seflutf 7600000 0 44750 7555250

2 ;fdflhs ;'<Iff sfo{s|d-lzz' :ofxf< ;d]t 20000000 14200000 43743000 -23743000

3

;fdlhs kl<rfng sfo{s|d ;fdflhs kl<rfng 
kfl<>lds gf.;.s] j*f d_r lhljs 1500000 180000 1676675 -176675

4 afn d}qL sfo{s|d o"lg;]km ;_u 2940000 0 0 2940000
cfGtl<s >f]t jrt jf^

1 dd{t ;Def< sf]if 300000 300000
2 k|sf]k Joj:yfkg sf]if 100000 100000
3 l;=Pkm=Pn=lh sfo{s|d 1000000 1000000
4 l^=l*=Pkm ;f_jf tyg Jofh e\Qmflg 1000000 1000000
5 hu]*f sf]if 200000 200000
6 ;*s jf]{* 500000 500000
7 P=l*=lj nf]g ;fjf tyf Jofh e\Qmflg 900000 900000
;*s jf]{* sfo{s|d

1

cf]b|f lgs'~hdfu{ ^f]n;'wf< ;ldlt If]q sfnf]kq] 
dd{t 2400000 0 0 2400000

2

:df^{ km'* rf]sb]lv kfl<hft rf]s sflnsf dfu{ 
sfnf]kq] < *'d|Lrf]s af^ 2400000 0 0 2400000

3

;fljs <Tggu< :t<sf leqL zfvf ;*sx? 
dd{t j*f g_. 12891213 2400000 0 0 2400000



4 s|dfut of]hgfx? ;*s af]*{ 0 0 4800000 -4800000

hu]*f sf]if sfo{s|d

1

hod_unf hd'gfk'< x'Fb} vf]n]l;dn hf]*g] ;*s 
5000000 0 0 5000000

2 <Tggu< 10 lr;fkfgLaf^ a^< k'n hf]*g] ;*s 5000000 0 0 5000000

3 lk&'jf l;_rfO{ d'n tyf zfvf gx< nfO{lgË ug]{ 10000000 0 0 10000000

4

d}gfx bf]<_uL a%\of}nL x'Fb} k'<fgf] xfQL;f< hf]*g] 
;x< k'g lgdf{)f t 10000000 0 0 10000000

5 s|dfut sfo{s|dx? hu]*f sf]if 0 545715.77 8656765.37 -8656765.37
jftfj<)f d}lq sfo{s|d

1

e't]xf b]lv jf]^] #f^ ;Dd gof_ *|ofs ;lxtsf] 
xl<ofnL sfo{s|d gof ko{^ 2000000 0 0 2000000

2

;<;kmfO{ cleofg ;_rfng ;fdfu|L tyf Hofnf 
;d]t 1000000 0 38325 961675

3

^f]n txdf j*f txdf O{PkmPnlh cled'lvs<)f 
sfo{s|d 200000 0 50000 150000

4

;fljsf s'nf]gx< #f]n ;kmf ul< l*ndf 
;d'bfosf] ;fem]bf<Ldf ;f]nf< alQ 300000 0 0 300000

5

^f]n ljsf; ;_:Yffsf] ;fem]bf<Ldf ;f]nf< alQ 
lj:tf< sfo{s|d 500000 1536000 1536000 -1036000

6

Knfli^s emf]nf lgif]lwt sfo[s|d <.vf.kf.tyf 
;.;.pjf.;_.^f]lj; ;f.jg 300000 0 60000 240000

7 ;*s alQ dd{t gof h*fg sfo{s|d 1200000 37000 121999.99 1078000.01



8

j[Iff<f]k)f sfo{s|d -d[us'_h pkef]Qmf 
;ldlt;_usf] ;fem]bf<Ldf 500000 0 0 500000

9

jg jftfj<)f tyf ;<;kmfO{ r]tgfd'ns 
sfo{s|d vr{ 100000 0 56300 43700

10

c:yfO{ ?kdf kmf]x< d}nf Joj:yfkg tyf 
k|efljt If]q ;'wf< sfo{ 1000000 0 0 1000000

11 #'DtL zf}rfno lgdf{)f tyf ;_rfng 1000000 0 0 1000000

12

<gkf 8 leqsf d'Vo rf]sdf ;f]nf< alQ lj:tf< 
25 j^f kf]n 100000 0 0 100000

13

j*f g_ 8 leqsf d'Vo af^f]x?df j[Iff<f]k)f ul< 
xl<ofnL j*fsf] ?kdf kl< 300000 0 0 300000

14

<gkf 9 leqsf #]#f}nL u)f]z dlGb< k_rsGof 
b]lj dlGb< lzjfNfo dlGb< ; 150000 0 0 150000

15 dlg vf]nfdf kfs{ lgdf{)f ul< ko{^g k|a${g ug]{ 250000 0 0 250000
16 l^sf}nL rf}<df dfs{ lgdf{)f 300000 0 0 300000

17

lrq;f<L k'b]lv dfnk'< :s"n x'_b} ;f}<fxf;Dd 
;*ssf] bfof jfof j[If<f]k 300000 0 0 300000

18 lbuf] kmf]x<d}nf Joj:Yfkg sfo{s|d 500000 0 0 500000

19

<gkf 1 l:yt zlxb kfs{ sl<ofnL tyf k"jf{wf< 
lj:tf< 500000 0 0 500000

20 cGo sfo{s|d 2500000 0 108190 2391810
21 s|df_ut O{PkmPnhL sfo{s|d 0 571097.68 1877436.11 -1877436.11
22 <fli^\o ;<;kmfO{ clwofg 0 86501.5 86501.5 -86501.5

23 ;jf<L ;fwg vl<b O{PkmPnhL sfo{s|d :s'^< 0 0 172900 -172900



s\n hDdf 162085000 23323476.6 101865040.8 60219959.24


